Entering an Equation

'é into Excel










A 100 kg sign is hung from the end of a horizontal
support beam that is hinged to a wall. The beam and sign
are supported by a cable that is attached to the beam and
above to the wall. The beam is 2.5m long and the cable
weigh a small amount when compared to the sign. Find
the attachment position of the cable to the beam that

minimizes the tension in the cable.
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> |l 100 kg X-m T-N
6 |L 25m 1.0
7 |c 3im 11
8 1.2
9 |g 9.8 m/s*® 1.3
10 14
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2

4 |Basic Data Cable tension versus attachment position
5 M 100 kg X-m T-N

6 |L 25'm 1.0 2599

7 |c 3m 11 2394

8 1.2 2228

9 |g 9.8 m/s® 1.3 2091
10 14 1979
11 L5 1886

12 1.6 1810

13 L7 1749

14 1.8 1701

15 1.9 1666

16 =0 Lo

17 2.1 1634

8 2.2 1638

19 23 1659
20 24 1701
21 25 1773
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